
Dr. Z’s Math151 Handout #4.7 [Optimization Problems]

By Doron Zeilberger

Problem Type 4.7.1 :

A farmer wants to fence an area of A square units and then divide it into n + 1 parts by placing
n parallel fences parallel to one of the sides of the rectangle. How would he do as to minimize the
cost of the fence?

Example Problem 4.7.1:

A farmer wants to fence an area of 5000 square feet and then divide it into 3 parts by placing 2
parallel fences parallel to one of the sides of the rectangle. How would he do as to minimize the
cost of the fence?

Steps Example

1. Give names to the variables of the
problems,

1. In this case, since we have to decide
about a rectangle, let’s call the side par-
allel to the interior fences x and the other
side y.

2. Write down the constraint, and trans-
late it into mathematics. xy = A. Ex-
press y in terms of x.

2. xy = 5000. y = 5000/x.

3. Find an expression for the goal func-
tion, in this kind of problem, the length
of fencing is 2x+ 2y + nx.

3. Find an expression for the goal func-
tion.

Goal: 2x+ 2y + 2x = 4x+ 2y.
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4. Using step 1, express the goal function
in terms of x alone, call it f(x).

f(x) = (2 + n)x+
2A
x

.

4.
f(x) = 4x+

10000
x

.

5. Using calculus, minimize f(x) by tak-
ing its derivative and setting it equal to
zero.

5.

f ′(x) = (4x+10000x−1)′ = 4−10000x−2 = 4−10000
x2

f ′(x) = 0 when x2 = 2500 so x = 50, and
y = 5000/50 = 100.

Ans.: The dimension of the rectangle should
be 50 × 100. The total length of fencing
is then 400 feet.

Problem Type 4.7.2 : Find the point on the ellipse ax2 + by2 = c that are furthest from the
point (p, q).

Example Problem 4.7.2: Find the point on the ellipse x2 + 4y2 = 4 that is furthest from the
point (0, 1).

Steps Example

1. Write down the formula for the dis-
tance square from a general point (x, y)
and the designated point. This is your
goal function.

1. Goal: (x− 0)2 + (y − 1)2= x2 + y2 −
2y + 1.

2. The constraint is the equation of the
ellipse. Take one of the variables (what-
ever is convenient) as the main variable.

2. x2 +4y2 = 4 means that x2 = 4−4y2.
It is more convenient to take y as the main
variable, so Goal: f(y) = 4− 4y2 + y2 −
2y + 1 = 5− 2y − 3y2.
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3. Find the maximum of f(y), by taking
its derivative and setting equal to 0.

3. df/dy = −2 − 6y = 0, this means
y = −1/3, and x2 = 4 − 4/9 = 32/9 and
x = ±4

√
2/3.

Ans.: The farthest points are (±4
√

2/3,−1/3)

Problem Type 4.7.3 : A cylinder can (with or w/o the top) is made to contain V cm3 of liquid.
Find the dimensions that will minimize the cost of the metal to make the can.

[Variations on this problem have two kinds of metal, one for the bottom, and another for the round
side, with different prices per unit area, and you have to minimize the cost]

Example Problem 4.7.3:

A cylinder can without the top is made to contain V cm3 of liquid. Find the dimensions that will
minimize the cost of the metal to make the can.

Steps Example

1. Decide who are the variables? 1. The variables are the radius, r, and
the height h.

2. Write down the constraint, and ex-
press one of the variables in terms of the
other.

2. The volume is fixed at V . The
formula for the volume of the cylinder is
πr2h.

constraint: πr2h = V . Hence h = V/(πr2).
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3. Your goal is to minimize the amount
of metal. The area of the metal consists
of two parts: 1) the bottom 2) the sides.

3. The area of the bottom is πr2, the area
of the side is 2πrh (if you cut it and roll
it flat, you would have a rectangle with
sides 2πr and h). goal: πr2 + 2πrh, and
in terms of r alone, using step 2,

f(r) = πr2 + 2V r−1

4. Use calculus to minimize the goal func-
tion.

4.

f ′(r) = (πr2 + 2V r−1)′ = 2πr − 2V r−2

this is zero when r = (V/π)1/3. By step
2, h = V/(π(V/π)2/3) = (V/π)1/3.

Ans.: Both radius and height should be
equal to (V/π)1/3.
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